OPERACIONES COMBINADAS 2

Ejemplo:
Operacion
(22-3")-5-4-(3-25) =
Resultado 3
5| = (8-9)-5-4-(3-5) =
= (=1)-5-4-(=2) = Siti |
(-1):5-4:(-2) Solucion | solucisn del
= -5+8 : profesor
Calcula:
Operacion
[2°-37|+[3-27]=
Resultado
A.
Solucién
(\/E—\/§+2)2 ~2.5=
Resultado
B.
Solucién
3-(2°—\0)+5-(V4-49) =
Resultado
C.
Solucién
2.52-32.4+6-+/1=
Resultado
D.
Solucién
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(22 -3%)-(3 —7)+(5—J§)=
Resultado
E.
Solucién
(2-\/5—9:3):7+5-\/Z—1=
Resultado
F.
Solucién
(5_3.4).(”6.2)_(@—@)2 =
Resultado
G.
Solucién
[(3:(6-4)-7)—(5-(2+1)+1) |- (1-3-4) =
Resultado
H.
Soluciéon
() (7 4 6 -
Resultado
Soluciéon
P27 (4 -5) -2 (52 -4 -4 =
Resultado
Solucién
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